

BID TABULATION

Columbia County Board of County Commissioners

Date: October 30, 2025

Project Bid No: 2025-12

Addendums Issued: 0

Company Name

Bid Amount

1. Anderson Columbia Co. \$ 9,146,337.20

2. _____ \$ _____

3. _____ \$ _____

4. _____ \$ _____

5. _____ \$ _____

6. _____ \$ _____

Witnessed by 

**Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing**

**BID SUMMARY
(MUST PRECEDE ALL BID DOCUMENTS)**

Anderson Columbia Co., Inc.

BIDDER COMPANY LEGAL NAME

P.O. Box 1829, Lake City, FL. 32056 386.752.7585 Ext. 224 TONY.WILLIAMS@ANDERSONCOLUMBIA.COM

MAILING ADDRESS, TELEPHONE NUMBER, AND EMAIL

DESCRIPTION OF PROJECT: Work on this project includes milling, resurfacing, and widening of the mainline, shoulders, auxiliary lanes, and ramps on SR 25 (US 41) at the interchange with I-75 in Columbia County; replacement of existing guardrail; construction of a stormwater management facility and drainage features; installation of new guide signs; construction of signalization features for the ramp intersections; retrofitting new luminaires on high mast light poles and underdeck lighting, and construction of new intersection lighting.

BID OPENING DATE & TIME: October 30, 2025, 2:00 P.M.

PLACE OF BID OPENING: COLUMBIA COUNTY ADMINISTRATION
135 NE HERNANDO AVENUE, SUITE 203
LAKE CITY, FL 32055

TOTAL BID AMOUNT (NUMERICAL): \$9,146,337.20

TOTAL BID AMOUNT (IN WORDS):
NINE MILLION ONE HUNDRED FORTY SIX THOUSAND THREE HUNDRED THIRTY SEVEN DOLLARS AND TWENTY CENTS

Anderson Columbia Co., Inc.

BIDDER COMPANY NAME (PRINT OR TYPE)



SIGNATURE OF AUTHORIZED COMPANY REPRESENTATIVE

E. Tony Williams Jr., Vice President

AUTHORIZED COMPANY REPRESENTATIVE (PRINT OR TYPE)

10/30/25

DATE COMPLETED

IMPORTANT:
**THIS BID SUMMARY MUST BE COMPLETED AND MUST PRECEDE ALL
BIDDER PROPOSAL DOCUMENTS**
***ALTERNATE BIDS TO BE SUBMITTED ON NEXT PAGE WHEN
APPLICABLE**

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

SCHEDULE OF VALUES					
ROADWAY					
PAY ITEM NO.	PAY ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL COST
0101 1	MOBILIZATION	1	LS	\$ 1,044,640.67	\$ 1,044,640.67
0102 1	MAINTENANCE OF TRAFFIC	1	LS	\$ 421,845.62	\$ 421,845.62
0102 2200	SPECIAL DETOUR- TEMPORARY PAVEMENT	499	SY	\$ 41.74	\$ 20,820.26
0102 2300	SPECIAL DETOUR- TEMPORARY BARTHWORK/BASE	120.7	CY	\$ 223.21	\$ 26,941.45
0102 60	WORK ZONE SIGN	5040	ED	\$ 0.35	\$ 1,764.00
0102 71 13	TEMPORARY BARRIER, F&I, LOW PROFILE, CONCRETE	4075	LF	\$ 56.30	\$ 229,422.50
0102 71 23	TEMPORARY BARRIER, RELOCATE, LOW PROFILE CONCRETE	3888	LF	\$ 21.11	\$ 82,075.68
0102 74 1	CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD	36344	ED	\$ 0.14	\$ 5,088.16
0102 99	PORTABLE CHANGABLE MESSAGE SIGN, TEMPORARY	738	BD	\$ 14.08	\$ 10,391.04
0102115	TYPE III BARRICADE	120	BD	\$ 0.70	\$ 84.00
0104 10 3	SEDIMENT BARRIER	2049	LF	\$ 3.84	\$ 7,868.16
0104 12	STAKED TURBIDITY BARRIER- NYLON REINFORCED PVC	46	LF	\$ 16.58	\$ 762.68
0104 15	SOIL TRACKING PREVENTION DEVICE	4	EA	\$ 3,321.63	\$ 13,286.52
0104 18	INLET PROTECTION SYSTEM	11	EA	\$ 281.49	\$ 3,096.39
0107 1	LITTER REMOVAL	164 00	AC	\$ 211.12	\$ 34,623.68
0107 2	MOWING	164 00	AC	\$ 211.12	\$ 34,623.68
0110 1 1	CLEARING & GRUBBING	8.30	AC	\$ 51,061.03	\$ 423,806.55
0110 4 10	REMOVAL OF EXISTING CONCRETE	1228	SY	\$ 26.17	\$ 32,136.76
0110 7 1	MAILBOX, F&I SINGLE	1	EA	\$ 562.98	\$ 562.98
0120 1	REGULAR EXCAVATION	4918 0	CY	\$ 22.83	\$ 112,277.94
0120 4	SUBSOIL EXCAVATION	9554 0	CY	\$ 64.40	\$ 61,527.76
0120 6	EMBANKMENT	8892.0	CY	\$ 31.64	\$ 281,342.88
0120 6	EMBANKMENT (SLEECT FILL FOR SMF1 SUBSOIL REMOVAL BACKFILL)	5838 0	CY	\$ 33.55	\$ 195,864.90
0160 4	TYPE B STABILIZATION	10248	SY	\$ 9.45	\$ 96,843.60
0285701	OPTIONAL BASE, BASE GROUP 01	4486	SY	\$ 61.50	\$ 275,889.00
0285709	OPTIONAL BASE, BASE GROUP 09	1391	SY	\$ 63.58	\$ 88,439.78
0285710	OPTIONAL BASE, BASE GROUP 10	1319	SY	\$ 93.49	\$ 123,313.31
0327 70 2	MILLING EXISTING ASPHALT PAVEMENT, 3 1/2" AVG DEPTH	4912	SY	\$ 5.20	\$ 25,542.40
0327 70 6	MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH	2141	SY	\$ 6.39	\$ 13,680.99
0327 70 7	MILLING EXISTING ASPHALT PAVEMENT, 4" AVG DEPTH	20689	SY	\$ 4.97	\$ 102,824.33
0334 1 57	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, HIGH POLYMER	3311 6	TN	\$ 213.91	\$ 708,384.36
0334 1 59	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC E, HIGH POLYMER	929 3	TN	\$ 233.90	\$ 217,363.27
0337 7 93	ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, HIGH POLYMER	2052.3	TN	\$ 207.44	\$ 425,729.11
0337 7 95	ASPHALT CONCRETE FRICTION COURSE, TRAFFIC E, FC-12.5, HIGH POLYMER	808.1	TN	\$ 245.20	\$ 198,146.12
0339 1	MISCELLANEOUS ASPHALT PAVEMENT	122.5	TN	\$ 257.84	\$ 31,585.40
0400 0 11	CONCRETE CLASS NS, GRAVITY WALL INDEX 400-011	15 5	CY	\$ 1,391.32	\$ 21,565.46
0400 4 5	CONCRETE CLASS IV, BRIDGE SUBSTRUCTURE	70 4	CY	\$ 8,486.90	\$ 597,477.76
0415 1 5	REINFORCING STEEL- BRIDGE SUBSTRUCTURE	21780	LB	\$ 5.73	\$ 124,799.40
0425 1521	INLETS, DT BOT, TYPE C, <10'	1	EA	\$ 11,647.77	\$ 11,647.77
0425 1541	INLETS, DT BOT, TYPE D, <10'	2	EA	\$ 13,194.50	\$ 26,389.00
0425 1549	INLETS, DT BOT, TYPE D, MODIFY	1	EA	\$ 17,206.78	\$ 17,206.78
0425 1561	INLETS, DT BOT, TYPE F, <10'	1	EA	\$ 12,394.64	\$ 12,394.64
0425 2 41	MANHOLES, P-7, <10'	2	EA	\$ 12,002.67	\$ 24,005.34
0425 2 61	MANHOLES, P-8, <10'	1	EA	\$ 12,177.30	\$ 12,177.30
0425 2 71	MANHOLES, J-7, <10'	1	EA	\$ 16,281.68	\$ 16,281.68
0425 2 91	MANHOLES, J-8, <10'	3	EA	\$ 14,390.46	\$ 43,171.38
0430175118	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 18"S/CD	381	LF	\$ 162.01	\$ 61,725.81
0430175124	PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 24"S/CD	152	LF	\$ 186.87	\$ 28,404.24
0430175136	PIPE CULVERT, OPT MATERIAL, ROUND, 36"S/CD	30	LF	\$ 431.61	\$ 12,948.30
0430175224	PIPE CULVERT, OPTIONAL MATERIAL, OTHER SHAPE-ELIP/ARCH, 24"S/CD	297	LF	\$ 191.91	\$ 56,997.27
0430524210	STRAIGHT CONCRETE ENDWALLS, 24", DOUBLE, 15 DEGREES, ROUND	1	EA	\$ 13,050.31	\$ 13,050.31
0430830	PIPE FILLING AND PLUGGING- PLACE OUT OF SERVICE	15 7	CY	\$ 560.39	\$ 8,798.12
0430982125	MITERED END SECTION, OPTIONAL ROUND, 18" CD	5	EA	\$ 2,159.73	\$ 10,798.65
0430982129	MITERED END SECTION, OPTIONAL ROUND, 24" CD	1	EA	\$ 2,332.53	\$ 2,332.53
0430982138	MITERED END SECTION, OPTIONAL ROUND, 36" CD	1	EA	\$ 4,291.93	\$ 4,291.93
0430982629	MITERED END SECTION, OPTIONAL - ELLIPTICAL / ARCH, 24" CD	1	EA	\$ 2,373.97	\$ 2,373.97
0430984133	MITERED END SECTION, OPTIONAL ROUND, 30" SD	2	EA	\$ 3,790.70	\$ 7,581.40
0430991	MITERED END SECT, REPLACE SLAB- CONSTRUCTION USE	1	EA	\$ 2,467.88	\$ 2,467.88
0520 1 7	CONCRETE CURB & GUTTER, TYPE E	2427	LF	\$ 41.31	\$ 100,259.37
0520 5 11	TRAFFIC SEPARATOR CONCRETE- TYPE I, 4' WIDE	67	LF	\$ 86.14	\$ 5,771.38
0520 6	SHOULDER GUTTER- CONCRETE	191	LF	\$ 42.69	\$ 8,153.79
0520 70	CONCRETE TRAFFIC SEPARATOR, SPECIAL- VARIABLE WIDTH	93	SY	\$ 172.07	\$ 16,002.51

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

0524 1 2	CONCRETE DITCH PAVEMENT, NON REINFORCED, 4"	701	SY	\$ 82.97	\$ 58,161.97
0524 2 2	CONCRETE SLOPE PAVEMENT, NON REINFORCED, 4"	93	SY	\$ 173.07	\$ 16,095.51
0530 3 4	RIPRAP, RUBBLE, F&I, DITCH LINING	20.8	TN	\$ 281.49	\$ 5,854.99
0536 73	GUARDRAIL REMOVAL	1219	LF	\$ 2.82	\$ 3,437.58
0536 1 1	GUARDRAIL -ROADWAY, GENERAL TL-3	994	LF	\$ 42.23	\$ 41,976.62
0536 1 3	GUARDRAIL -ROADWAY, DOUBLE FACE	359	LF	\$ 47.86	\$ 17,181.74
0536 85 20	GUARDRAIL END TREATMENT- TRAILING ANCHORAGE	2	EA	\$ 2,814.92	\$ 5,629.84
0536 85 24	GUARDRAIL END TREATMENT- PARALLEL APPROACH TERMINAL	2	EA	\$ 4,222.39	\$ 8,444.78
0536 85 27	GUARDRAIL END TREATMENT- DOUBLE FACE APPROACH TERMINAL	2	EA	\$ 12,244.95	\$ 24,489.90
0536 85 29	GUARDRAIL END TREATMENT- DOUBLE FACE TRAILING ANCHORAGE	2	EA	\$ 4,222.39	\$ 8,444.78
0570 1 2	PERFORMANCE TURF, SOD	27537	SY	\$ 6.59	\$ 181,468.83
0570 1131	PERFORMANCE TURF, SEEDING- BAHIA 'ARGENTINE'	5004	SY	\$ 0.73	\$ 3,652.92
0706 1 3	RAISED PAVEMENT MARKER, TYPE B	1709	EA	\$ 8.09	\$ 13,825.81
0710 11101	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	5 113	GM	\$ 3,166.80	\$ 16,191.85
0710 11124	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"	410	LF	\$ 4.93	\$ 2,021.30
0710 11125	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"	148	LF	\$ 6.33	\$ 936.84
0710 11131	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6" WIDE	0 367	GM	\$ 2,639.00	\$ 968.51
0710 11141	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSION, 6"	0 135	GM	\$ 2,814.92	\$ 380.01
0710 11160	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL	9	EA	\$ 119.64	\$ 1,076.76
0710 11170	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS	102	EA	\$ 91.49	\$ 9,331.98
0710 11180	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, YIELD LINE	17	LF	\$ 9.15	\$ 155.55
0710 11201	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	3 463	GM	\$ 3,166.80	\$ 10,966.63
0710 11224	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR DIAGONAL OR CHEVRON, 18"	797	LF	\$ 4.93	\$ 3,929.21
0710 11231	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"	0 195	GM	\$ 2,639.00	\$ 514.61
0710 11241	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXTENSION, 6"	0.229	GM	\$ 2,814.92	\$ 644.62
ROADWAY SUBTOTAL					\$ 7,037,461.03

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

SIGNING AND PAVEMENT MARKING					
PAY ITEM NO.	PAY ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL COST
0700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	29	EA	\$ 696.70	\$ 20,204.30
0700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0-20 0 SF	10	EA	\$ 3,194.95	\$ 31,949.50
0700 1113	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 20 1-30 0 SF	8	EA	\$ 3,448.29	\$ 27,586.32
0700 1500	SINGLE COLUMN GROUND SIGN ASSEMBLY, RELOCATE	16	EA	\$ 140.75	\$ 2,252.00
0700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	25	EA	\$ 70.38	\$ 1,759.50
0700 2115	MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 50 1-100 0 SF	8	EA	\$ 16,896.63	\$ 135,173.04
0700 2116	MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 100.1-200.0 SF	2	EA	\$ 22,308.32	\$ 44,616.64
0700 2117	MULTI-COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 200 1-300 0 SF	2	EA	\$ 36,594.11	\$ 73,188.22
0700 2600	MULTI-COLUMN GROUND SIGN ASSEMBLY, REMOVE	5	EA	\$ 1,407.47	\$ 7,037.35
0700 3501	SIGN PANEL, RELOCATE, UP TO 12 SF	3	EA	\$ 91.49	\$ 274.47
0700 13 15	RETROREFLECTIVE SIGN STRIP- FURNISH AND INSTALL, 5'	20	EA	\$ 119.64	\$ 2,392.80
0705 10 3	OBJECT MARKER, TYPE 3	4	EA	\$ 182.97	\$ 731.88
0705 11 1	DELINEATOR, FLEXIBLE TUBULAR	13	EA	\$ 98.53	\$ 1,280.89
0705 11 2	DELINEATOR, NON-FLEXIBLE	13	EA	\$ 98.53	\$ 1,280.89
0706 1 3	RAISED PAVEMENT MARKER, TYPE B	1134	EA	\$ 8.09	\$ 9,174.06
0710 12290	PAINTED PAVEMENT MARKINGS, DURABLE PAINT, YELLOW, ISLAND NOSE	156	SF	\$ 10.56	\$ 1,647.36
0710 90	PAINTED PAVEMENT MARKINGS, FINAL SURFACE	1	LS	\$ 56,298.63	\$ 56,298.63
0711 11102	THERMOPLASTIC, STANDARD, WHITE, SOLID, 8" FOR INTERCHANGE AND URBAN ISLAND	0.259	GM	\$ 15,176.00	\$ 3,930.58
0711 11124	THERMOPLASTIC, STANDARD, WHITE, SOLID, 18" FOR DIAGONALS AND CHEVRONS	1201	LF	\$ 10.42	\$ 12,514.42
0711 11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	326	LF	\$ 12.81	\$ 4,176.06
0711 11141	THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 GAP EXTENSION, 6"	0.078	GM	\$ 7,987.36	\$ 623.01
0711 11160	THERMOPLASTIC, STANDARD, WHITE, MESSAGE OR SYMBOL	36	EA	\$ 239.62	\$ 8,626.32
0711 11170	THERMOPLASTIC, STANDARD, WHITE, ARROW	87	EA	\$ 159.74	\$ 13,897.38
0711 11180	THERMOPLASTIC, STANDARD, WHITE, YIELD LINE	34	LF	\$ 31.95	\$ 1,086.30
0711 11224	THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON	763	LF	\$ 10.42	\$ 7,950.46
0711 11241	THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED GUIDE LINE /6-10 DOTTED EXTENSION LINE, 6"	0.998	GM	\$ 7,987.36	\$ 7,971.39
0711 16101	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	2 179	GM	\$ 10,383.57	\$ 22,625.80
0711 16131	THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP	0.307	GM	\$ 2,744.56	\$ 842.58
0711 16133	THERMOPLASTIC, STANDARD-OTHER SURFACES WHITE, SKIP, 12"- 3-9 LANE DROP	0.219	GM	\$ 5,591.16	\$ 1,224.46
0711 16201	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	1 925	GM	\$ 10,383.57	\$ 19,988.37
0711 16231	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"	0 150	GM	\$ 2,744.56	\$ 411.68
SIGNING AND PAVEMENT MARKING SUBTOTAL					\$ 522,716.67

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

SIGNALIZATION					
PAY ITEM NO.	PAY ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL COST
0630 2 11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	352	LF	\$ 24.39	\$ 8,585.28
0630 2 12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	924	LF	\$ 56.95	\$ 52,621.80
0632 7 1	SIGNAL CABLE- NEW OR RECONSTRUCTED INTERSECTION, FURNISH & INSTALL	2	PI	\$ 18,469.54	\$ 36,939.08
0634 4153	SPAN WIRE ASSEMBLY, F&I, TWO POINT, BOX OR DROP BOX	2	PI	\$ 18,651.70	\$ 37,303.40
0635 2 11	PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	30	EA	\$ 2,340.63	\$ 70,218.90
0639 1122	ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METBR PURCHASED BY CONTRACTOR	2	AS	\$ 7,508.66	\$ 15,017.32
0639 2 1	ELECTRICAL SERVICE WIRE, FURNISH & INSTALL	304	LF	\$ 13.74	\$ 4,176.96
0639 3 11	ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT	3	EA	\$ 4,214.48	\$ 12,643.44
0641 2 12	PRESTRESSED CONCRETE POLE, F&I, TYPE P-II SERVICE POLE	5	EA	\$ 3,596.28	\$ 17,981.40
0641 2 18	PRESTRESSED CONCRETE POLE, F&I, TYPE P-VIII	8	EA	\$ 42,850.16	\$ 342,801.28
0650 1 14	VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 3 SECTION, 1 WAY	24	AS	\$ 2,650.89	\$ 63,621.36
0650 1 16	VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, 4 SECTION, 1 WAY	1	AS	\$ 3,126.57	\$ 3,126.57
0660 4 31	VEHICLE DETECTION SYSTEM- VIDEO, INSTALL CABINET EQUIPMENT	2	EA	\$ 2,564.90	\$ 5,129.80
0660 4 32	VEHICLE DETECTION SYSTEM- VIDEO, INSTALL ABOVE GROUND EQUIPMENT	6	EA	\$ 5,114.36	\$ 30,686.16
0670 5300	TRAFFIC CONTROLLER ASSEMBLY, INSTALL	2	AS	\$ 9,671.36	\$ 19,342.72
0682 1153	ITS CCTV CAMERA, F&I, STATIONARY, IP, HIGH DEFINITION	2	EA	\$ 8,462.29	\$ 16,924.58
0682 1300	ITS CCTV CAMERA, INSTALL	2	EA	\$ 2,818.29	\$ 5,636.58
0685 1 30	UNINTERRUPTIBLE POWER SUPPLY, INSTALL - EQUIPMENT FURNISHED BY OTHERS	2	EA	\$ 2,992.74	\$ 5,985.48
0700 3201	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, UP TO 12 SF	12	EA	\$ 1,396.43	\$ 16,757.16
0700 3202	SIGN PANEL, FURNISH & INSTALL OVERHEAD MOUNT, 12-20 SF	6	EA	\$ 1,796.06	\$ 10,776.36
SIGNALIZATION SUBTOTAL					\$ 776,275.63

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

INTELLIGENT TRANSPORTATION SYSTEMS					
PAY ITEM NO.	PAY ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL COST
0611 1 1	ITSFM SUBSURFACE DOCUMENTATION- PROJECT LENGTH	0.588	MI	\$ 4,707.31	\$ 2,767.90
0611 2 1	ITSFM LOCATION DOCUMENTATION- INTERSECTION	3	EA	\$ 4,065.13	\$ 12,195.39
0630 2 11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	2453	LF	\$ 23.52	\$ 57,694.56
0630 2 12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	802	LF	\$ 56.61	\$ 45,401.22
0633 1121	FIBER OPTIC CABLE, F&I, UNDERGROUND, 2-12 FIBERS	1444	LF	\$ 6.14	\$ 8,866.16
0633 1122	FIBER OPTIC CABLE, F&I, UNDERGROUND, 13-48 FIBERS	4816	LF	\$ 7.16	\$ 34,482.56
0633 2 31	FIBER OPTIC CONNECTION, INSTALL, SPLICE	40	EA	\$ 81.95	\$ 3,278.00
0633 2 32	FIBER OPTIC CONNECTION, INSTALL, TERMINATION	48	EA	\$ 139.96	\$ 6,718.08
0633 3 11	FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE ENCLOSURE	3	EA	\$ 2,188.66	\$ 6,565.98
0633 3 12	FIBER OPTIC CONNECTION HARDWARE, F&I, SPLICE TRAY	6	EA	\$ 99.52	\$ 597.12
0633 3 14	FIBER OPTIC CONNECTION HARDWARE, F&I, BUFFER TUBE FAN OUT KIT	4	EA	\$ 99.52	\$ 398.08
0633 3 16	FIBER OPTIC CONNECTION HARDWARE, F&I, PATCH PANEL- FIELD TERMINATED	2	EA	\$ 2,640.88	\$ 5,281.76
0633 6	FIBER OPTIC CABLE LOCATOR	200	DA	\$ 330.87	\$ 66,174.00
0635 2 12	PULL & SPLICE BOX, F&I, 24" X 36" COVER SIZE	16	EA	\$ 4,181.63	\$ 66,906.08
0635 2 13	PULL & SPLICE BOX, F&I, 30" X 60" RECTANGULAR OR 36" ROUND COVER SIZE	4	EA	\$ 7,766.66	\$ 31,066.64
0684 1 3	MANAGED FIELD ETHERNET SWITCH, INSTALL	3	EA	\$ 1,024.64	\$ 3,073.92
INTELLIGENT TRANSPORTATION SYSTEMS SUBTOTAL					\$ 351,467.45

Columbia County Board of County Commissioners
Columbia County Project No: 2025-12; FDOT FPID 445725-5-54-02
I-75 at SR 25 (US 41) Widening and Resurfacing

LIGHTING					
PAY ITEM NO.	PAY ITEM DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	TOTAL COST
0630 2 11	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	526	LF	\$ 25.76	\$ 13,549.76
0630 2 12	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	1166	LF	\$ 53.78	\$ 62,707.48
0635 2 11	PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	13	EA	\$ 2,174.35	\$ 28,266.55
0715 1 13	LIGHTING CONDUCTORS, F&I, INSULATED, NO 4 TO NO 2	8923	LF	\$ 5.69	\$ 50,771.87
0715 1 60	LIGHTING CONDUCTORS, REMOVE & DISPOSE, CONTRACTOR OWNS	5442	LF	\$ 0.72	\$ 3,918.24
0715 7 21	LOAD CENTER, REWORK, SECONDARY VOLTAGE	2	EA	\$ 5,646.16	\$ 11,292.32
0715 11212	LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY HIGH MAST	33	EA	\$ 4,532.64	\$ 149,577.12
0715 11225	LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE, ROADWAY, WALL MOUNT	4	EA	\$ 2,311.62	\$ 9,246.48
0715 61300	LIGHT POLE COMPLETE, F&I, STD POLE STD FOUNDATION, 40' MOUNTING HEIGHT, 0' ARM LENGTH	1	EA	\$ 11,416.34	\$ 11,416.34
0715 61342	LIGHT POLE COMPLETE, F&I, STD POLE STD FOUNDATION, 40' MOUNTING HEIGHT, 12' ARM LENGTH	2	EA	\$ 14,081.50	\$ 28,163.00
0715 61352	LIGHT POLE COMPLETE, F&I, STD POLE STD FOUNDATION, 40' MOUNTING HEIGHT, 15' ARM LENGTH	4	EA	\$ 20,634.55	\$ 82,538.20
0715500 1	POLE CABLE DISTRIBUTION SYSTEM, FURNISH AND INSTALL, CONVENTIONAL	7	EA	\$ 995.58	\$ 6,969.06
LIGHTING SUBTOTAL					\$ 458,416.42